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L ALGEBRAIC EXPANSION _ (Chapter 4)

[E] Mathematics for the B
international student 8 = 6 Expand and simplify:

i a 3@+2) +2(x+3) s(f+3)+4(1+3)
3] Usingthe ntracive 4(z —2)+5(z—4)
8] Areas of meracton 5(m +4) — 3(m — 2) —o(m+ 1)
[E] Table of contents
@] Graphics calculator 3z —1)—2(2x - 4) —(3z+2)
 comtoren s T(z+2)+3(2—dz) i —202z+1)
e
] 1. Number —5(n—4)—3(2n—5) 6(2y — 1) +42-y)
e 9z +1) +3(20 — 3) — 152 11(2t— 1) —3(5 —3t) +4
=[] 3. Percentage
6 S
8] Opering probem | Example 7 | ) Self Tutor
0 o Expand and simplify:
78l 8- The apansion a 4-2(+3) b 8-3(2-1)
[ - The expansion A

~ B WMo o e o
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£ Foreword

[¥] using the interactive
@

[E] Areas of interaction
[E] Table of contents

1] Graphics calculator
instructions

[ challenge sets
] 1. Number

£ 2. Agebraic
operations

£] 3. percentage

R

1 opening problem
] A~ The distributive
law

] & - The expansion
of (a+b)(cr)
[] C-The expansion

Notice that the factor outside the brackets is multiplied by each term inside the brackets.

This process of removing the brackets in a product is known as expansion, and

a(b+c) = ab+ac

is called the distributive law.

) Self Tutor

Expand and simplify:
a 5(z+4) b 4(y—3)
A
a  5(z+4) b 4(y-3) Multiply each term
_ O inside the brackets by
- z: fﬂ;r %4 — @y +-3) the quantity outside
B =4 xy+4x(=3) the brackets.
=4y —12
[ Cxompie 2 | =0 st Tutor
Expand and simplify:
a 3(2a+7) b 23z —4)
P — O
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[E] Areas of interaction
[E] Table of contents

1] Graphics calculator
instructions
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] 1. Number
5] 2. Algebraic
operations
] 3. Percentage

R
%] opening problem
] A~ The distributive
law

] B - The expansion
of (atb)(c+d)
] c- The expansion

ALGEBRAIC EXPANSION _(Chapter4) 101

EXERCISE 4A
1 Expand and simplify:
a 2(z+7)
e 6(b—3)
i 3(5+x)
m 6(d+e)
a 4(10-j)
2 Expand and simplify:
a 92z+1)
e 6(3z+y) 5(z —2y)
i 7(a—5b) i 12(2+3d)
m 112z —y) 4(p+9q)
q 309z +y) 7(c—9d)

5(a+c)
h 4(p-q
4(7+m)
5(p—q)
8(11—d)

11(1 - 2n)
h 2(a—2b)
1 6(5b+3a)

209+ 82)

8(8a—c)

Example 3
Expand and simplify:

) Self Tutor
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instructions
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law
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The expansion

& "

m
q
u

Expand and simplify:
a 2y(3y+5)

) Self Tutor

22(3 — 2z)

AT
2y(3y +5)
=2yx3y + 2yx5

= 6y> + 10y

A
2(3 — 2z)

iz X3 + 2z x (—2x)
= 6z — 422

3 Expand and simplify:

z(z+2) x(5—x)
a(b+2c) a(a®+1)
3a(6 — ) i Sx(x—4)
(2z+3)z (5—2z)x
mn(m —n) ac(c — 4a)
(7a® — 5b)b ay(z+ 9y)

b(5 — 3b)

h 22(3 —4x)
TH(b+2)
a’b(3—1)
(3k +512)k
(3t —5s%)t
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] Hetp a —4(zx+3) b —3(2z—4) ¢ —(3—2x)
3

B o
Mathematics for the
internatonal student 8| —4(z+3)
e =—dxz + —4x3 {~4is multiplied by & and by 3}
) Forevers
[£] using the interactive
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[E] Table of contents

1] Graphics calculator
instructions

[ challenge sets
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2. Algebr
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] 3. Percentage
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e b -3z —4)
%] opening problem . L
[] A~ The distributive =-3x2z + -3 x(—4) {-3 is multiplied by 2z and by —4}
law

=—6z+12

] B - The expansion
of (a+b)(ctd) —(3-22)
The expansion B





image5.png
| ibmyp3 pdf (SECURED) - Adobs

Fie Edit View Document Tools Window Help

& 6 4P 2 /u o8 % = ] Fna -

%] Back to main page
B Hewe

4]

[E] Mathematics for the
international student 8
(MvP 3)

£ Foreword

[¥] using the interactive
@

[E] Areas of interaction
[E] Table of contents

1] Graphics calculator
instructions

[ challenge sets
] 1. Number

£ 2. Agebraic
operations

£] 3. percentage

R

%] opening problem
] A~ The distributive
law

] & - The expansion
of (a+b)(c+d)
‘The expansion

102 ALGEBRAIC EXPANSION _(Chapter 4)

A=
b -3z —4)
=-3x2r + -3x(—4)
=—6z+12
—(3—2z)
LT
=-1(3 —2z)
=-1x3 + —-1x(—2z)
=-3+2z

{-3 is multiplied by 2z and by —4}

{—1 is multiplied by 3 and by —2z}

4 Expand and simplify:
a —2(z+2) b —3(z+4)
e —(a+2) f —(z-3)
i —34-x) i —4(5z -2)

¢ —4(z—2)
g —-5-2)
K —5(3— dc)

Expand and simplify:
a —a(a+T7)

b —4b(2b—3)





